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Plot Sensor and FgRec Data

—e— dFVI
0.04 1 —@— dFVO

0.02

-0. 02 ~

-0. 04 ~

0. 00 - a——a—@ L L 0 D an @ - oD ap . L b o b a - -
7.5

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day

—&— DUC

200 -

150 ~

100 -

50 -

7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day

160 A
—&— FRV
140 ~
120 A

100 ~

80 1 o—————C

60 -

40 -

7.5 10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day

—@— FRC
. 6506 -

. 6504 -

. 6502 -

. 6500 -

. 6498 -

. 6496

. 6494

- ——a—. @ @ o . - - - ap L o» 4 - -
7.5

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5
day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

70

60

50

40

1200

1000

800

600

400

200

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
| ﬂ%ﬁ\]’\\__’ﬁ\_/\]ﬂ I_\\/\]A HVAVA‘ NJHUAUT\\ m———
VAT N Al e \ﬂ fj ——
v v J '\, i v V T—
0 25 : 50 75 100 125 150 175
d
i ,%/AVAVA\/ A— N\~~~ \ v—\v\’\/ : :opt ]
I N~
| e
V-~ - -
VRAVAAN
Rl
(N
0 25 50 75 100 125 150 175
d
A i - RH
! ~——  RHopt |
Y
0 25 50 75 100 125 150 175
d
é P /\fV\'_/\A[\VPJH\/JM N, L Eliém |
s M
-V ™,
<N A
v S —
0 25 50 75 ; 100 125 150 175
: — LAl
: N
i / \\—\.\
= .
e / \“
0 25 50 75 ; 100 125 150 175
E N\ ' optEtRate |
M A VWA N M WA VAV WA
VALY AW V v
0 25 : 50 75 100 125 150 175



150

100

50 A

Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

™~ N\ A
v

setVIl _ETcl
setVl_fgRec |
setVI_VN
slSetVI

20

25

30

35




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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